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ECONOMICS S8C-I
SECTION — A (Marig 15

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are ¥ be answered on the question paper itself.
it should be completed in the first 20 minutes and hmnded over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pensll.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.
(1) The Agriculture and Handicraft stage created the concept of:

A Division of fabour B. Barter system
C. Tribal system D. Civilization
(ii) Which economic system does not allow the right of private property?
A Capitalism B. Socialism
C. Economic System of Isiam D. Laisseze-fair economy

(i) The working efficiency of a man can be increased with the use of:

A Necessities B. Comforts C. Luxuries D. Trairing
(iv) We do not need money to satisfy:

A Economic wants B. Wants

C. Non-economic wants D. Needs

(v) The power of a commodity to satisfy human want is called:

A Scarcity B. Utility C. Durability D. Quantity
{vi) Who is considered as the father of economics?

A Adam Smith  B. Alfred Marshall C. Lionel Robbins D. J.S. Mill
(viy  The amount of money which a company keeps to re-invest in the business is called:

A Saving B. Personal saving

C. Corporate saving D. Public saving
(vili)  Which of the following does NOT change with the change in income?

A Investment B. Autoncmous Investment

C. Induced Investment D. Real Investment
{ix) The relationship between quantity demanded of a commodity and its price is:

A Direct B. Positive C. Inverse D. Neutral
(x) The supply of a good will with the improvement in the techniques of production.

A Fall B. Contract C. Increase D. Remain constant

(xi) The demand of wheat is more than its supply at a given price, this situation is termed as:

A Surplus . B. Shortage C. Balance D. Equilibrium
(xiy ~ The supply of which factor of production is fixed?

A Land B. Labour C. Capital D. Organization
{xiii}  Which type of labour needs training?

A Physical labour B. Mental labour C. Skilled labour D. Manual labour
(xiv)  The organizer of a public joint stock company is:

A Investor B. Entrepreneur C. Government D. Business partner
(xv)  The process of sharing out of the national income among the factors of production is called:

A Production B. Consumption C. Exchange D. Distribution

For Examiner’s use only:

Tolsk Marks: 15

Masls Obtained:

—1S8A 1819 ——




Roll No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:

I- g Qo] ol clpkilae
(15/:Ug) Jilo w20

e LA WS Mo s S Sk i L LIPS SL wmd bf 5 L oir 8§ gg ML bilie S

e A2 670 S s e 3 T Bl 1 S L 12y
_Lp¥saL Lo $ s (0
i (T T #
oo oL iebfrBdeld (i)

L b AR €T ST R AT o sk, o
e F Uit Kb S e Sl i)

o RS I S T R
Ao So L L Sugf (iv)

Y. SRS (0 Sl e sbbf
-u_“i :-J§-Jﬂdx{:—ebéﬂuu‘d’wﬁaﬂ-‘m{i‘fr v)

S - S " T e -

e bW T B i)
AV ) s "3 J’;q/“l - #FpT L
- fur;‘,gfg_z:z‘_s’ﬁu;»ubguK&fé,wu&; (vii)

Y R S SV Y. SR 0 EE N T of
Stni e e SR e i Sits (Vi)

N A9 -GN YTV R ST AP AT [T S AP
etz AL eda il @

Ul -3 g~ "o = T |

a2 Sl TR e BE 0
Jeof o Sever & Joer o Jeu/ .o
_u_?i JUL:’“J!'JL95:&)@%}&&{!{}?’2&2{6} {xi)

iy -3 -t & oAb — -
e pri§lgass )
L s <L =t i
S brtznn S i L7 (il
sl ezt i Jet ez L
s JrE - i b
e FedNF SR )
IS99 - O S 2T e Ay
g I o Pillie LT )
=~ - ST o He t

- —— -—— - et e i e e e b e et

PN 15 A L F el

—- 15A 1818 —




(g
ECONOMICS SSC-I D

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B' and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B If required. Write your answers
neatly and legibly.

SECTION ~ B (Marka 36)
Q.2 Answer any TWELVE parts. The answer to each part shassd not exceed 3 to 4 lines. (12x3=236)
{i) What is Division of Labour?
(ii) Define socialism.
(iii) How are some wants competitive?
(iv) What do you know about “Induced Investment*?
(v) Differentiate between ‘value-in-use’ and ‘value-in-exchange’.
{vi) Why does an economic problem arise?
(vii) What is NNP?
(viii) How does ‘consumption’ lead to other economic activities?
(ix) Differentiate between “desire” and “effective desire”.
(x) Construct a demand schedule.
(xi) What do you understand by productive labour and unproductive labour?
(xii) How does land lack mobility?
(xiii)  What do you know about real wage?
(xiv)  Whatis included in Gross Profit?
(xv) Define income.
(xvi)  What are natural resources?
(xvii)  Describe three stages of industrial life?

(xviii) What shapes and kinds has capital been changing since the beginning of civilization?

SECTION ~ C (Marks 24)
Note: Attempt any THREE questions. Ail questions carry equad marks. (3 x8=24)

Q.3  Why and how is capitalism better than socialism?
Q.4 What are human wants? Explain characteristics of human wants in detail.
Q.5 Explain the law of supply with the help of schedule and diagram.

Q.6 Define labour. Explain kinds and characteristics of labour in detail.
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